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® 24a = 240m? @ 1300a = 1.3ha
@)skm? = 80000a @ 1.6km? = 1600a

® 47m2 =470a

~&B

1km? = 100 ha = 10000 a = 1000000 m? ©] 22
D 24 a = 2400 m?

@ 1300a = 13 ha

@ 1.6km? = 16000 a

®47Tm? =047a




10. o5 FolA |olol &9 BAE vr=A vehd A2 o=

O 25km? = 2500a @ 49a =490 ha
3@ 6800000 m? = 680 a @0.54 ha = 5400 m?

® 370a = 3.7m?

~&B

1km? = 100 ha = 10000 a = 1000000 m?
@ 25km? = 250000 a

@ 4.9a =0.49ha

@ 6800000 m? = 68000 a

® 370a = 37000 m?




@ 0.75km? @ 100 m x 4000 cm
@)s0000a @ 25ha

® 100m x 3000 cm

~&B

T 22 @2 A A By}
@D 0.75km? = 75ha
@ 100m x 4000 cm = 4000 m? = 0.4 ha
@ 80000a = 800 ha
@ 25 ha
® 100 m x 3000 cm = 3000m? = 0.3ha
B>0>0D>20>0
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® 4m? @ 40cm? (3)40 m?2

@ 4000 cm? ® 40000 cm?
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3 400000 cm?
@ 4000 cm?
® 40000 cm?
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@ 3kg =3000g @ 4t = 4000000g

@5.5t = 55000000 g @ 6t = 6000kg
® 120t = 120000 kg

® 5.5t = 5500 kg = 5500000 g
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D (17426 +26+19) +4 =88+4 =22 °C
i B e

D (164+19+20+17)+4="72+4=18 °C
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18. #HLoJylE= 3.2ha o] =04 & 5.6t = AR, W= 4.5ha
4 —‘mﬂ/ﬂ & 7920 ke 2 AASFALSUTH 1a & AAEES o] o)
% kg H BHUE?

®© 72, 1kg @ 72, 0.1kg ® ¥4t 0.01kg

@ "4F, 1kg @‘?J'Fh 0.1kg

B ~
7Aooy 1a F AA4=F : 3.2ha = 320a,

5.6t = 5600kg = 5600 + 320 = 17.5( kg)

A 1a T RBAEEF @ 45ha = 450a,

7920 + 450 = 17.6( kg)

wrakA] 97y 7} 1a T AJALEFO]

17.6 —17.5 = 0.1(kg) & @5t
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(540 4 620 +[ |+ 450) + 4 = 470
1610 4 J=470x 4

1610 + [ |= 1880
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22. thg % Fol 10 Bk 2 AL oL 2GR

® 20.3+29 @ 3.44-0.43 ® 17.29+1.9
@2.754 +0.27 ® 20+25

B

D203+29=203+29=7
©®344+043=344+-43=8
®17.29+1.9=1729+19=9.1
@ 2.754 + 0.27 = 275.4 + 27 = 10.2
®20+25=200+25=38
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